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NOTE

1.  This paper has Two sections, Section-A : General Mathematics : Q. Nos. 1-25 and Section-B :
Computer Knowledge : Q. Nos. 26-100.

2. This question booklet contains 100 questions numbered from 1 to 100 and each question carries 1 mark.
All questions are compuisory. There is no negative marking.

3. Tally the number of pages along with no. of questions printed on cover page of- the booklet. Also check
that question booklet contains the questions of all relevant subjects/topics, as required and stated
above and no repetition or omission of questions is evident.

4. If any 'discrepancy is found in the Question Booklet, the same can be replaced with another correct
Question Booklet within first 15 minutes. '

5.  Before answering the questions please read carefully the instructions printed on the back cover page of
the question booklet and strictly follow them. Indicate your answers by blacking circles carefully
only on the O.M.R. Answer Sheet provided.

6. Use of any type of calculator, mobile phone or any other electronic equipment and log table etc. is

strictly prohibited.
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1. Asum of money doubles itself in 10 years at simple interest. Then rate of interest :

(A) 9% B) 11%
(C) 8% (D) 10%
HIE G TR 919 A 10 I H A @ S ¥ o e e
(A) 9% B) 11%
(C) 8% (D) 10%
2. If a, b, care the lengths of the sides of a triangle ands=a+g+c,then areaof A:
(A) Ja(s-a)(s-b)(s-c)
. (B) ,/abc (s-a)
(C) Js(s-a)(s-b)(s-0)
(D) {s?(s-a)(s-b)
w&a,b,cﬁraaﬁaﬁﬁ%ﬁxS=a+g+c,aa1%rgaaﬂ$3rw‘:

(A) Ja(s-a)(s ~b)(s-¢)

(B) ,/abc (s-a)

(C) Js(s-a)(s-b)(s-c)

(D) s2 (s-a)(s-b)

3. A manbuys two horses for Rs. 1,350. He sells one so as to loss 6% and the other so
as to gain 7-5%. On the whole he neither gains nor losses, then each horse cost :

(A) Rs. 750, Rs. 600 (B) Rs. 780, Rs. 380

(C) Rs. 750, Rs. 650 (D) Rs. 775, Rs. 390

T 1A & g 1,350 . H TG ¥ 1 9% TH hl 6% e ¥ R G H 7-5% AN § 9= ¢
7T 30 7 @ e g AR A @, @ A e e A

(A) 750%.,600%. (B) 780%.,380%.
(C) 7507%.,650%. (D) 775%.,390%.
A-Set ATADTI/13-A—page-7 c-31




4. Manju sells an article to Anju at a profit of 25%. Anju sells it to Sonia at a gain of 10%
and Sonia sells to Bobby at a profit of 5%. If Sonia sells it for Rs. 231, then the cost
price at which Manju bought the article is :

(A) Rs. 100 (B) Rs. 160

(C) Rs.180 (D) None of these

A~ T T Wﬁzs%wamm% I, AT 10% e TR iR Wifren st 1 5%
T T e ¥ 1 Atk D 231 5. 8 St ¥, 99 v R S TR o Y i R

(A) 100%. (B) 1607%.
(C) 180%. (D) T 9 = T
5. The population of a town has increased from 60,000 to 65,000, then the increase per
centis:
A 8l°/ B glo/
(A) 8% | (B) 93%
1
(C) 105 % (D) 6%
TF T & SEE 60,000 H 65,000 T Sl €, A S@ gfaee ¥
A) 81o B) 9.9
) 83% B) 9%
1
(C) 105 % (D) 6%

6. Rajeev’s salary is increased from Rs. 630 to Rs. 700, then the increase percentis :

(A) 9% | (B) 10%
1O 10
(C) 75/o (D) 115/0
TSire 1 991 630 % ¥ gt 700 T B T4, 79 S 1 yiava ®©
(A) 9% (B) 10%
1 - 1
7_°o _oo
(C) 9/ (D) 119/ '
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7. The salary of a worker was first increased by 10% and thereafter decreased by 5%,

then the change % in his salary is :

(A) 45% (B) 35%

(C) 55% (D) 65%

T HHIR & A H 10% 1 gfig 3R Tevar 5% F "I & T, 79 56 A # wgerd w1
e . .

(A) 45% (B) 35%

(C) 55% (D) 65%

8. If the sum of two numbers is A and their difference is a, then the ratio of numbers is

given by :

(A) A+a:A-a (B) A’-—a:A

(_C) A+ az, A-a (D) None of these

Ifs < FEmsti w1 A A iR ST SR a ¥, 99 37 GeHSi & 9 A

(A) A+a:A-a (B) A’—a;A '

(C) A+a’ A-a (D) 8 A F &
9. Sum of squares of first ‘n’ natural numbers is :

A) n(n+ 1)6(2n +1) . ®) n(n + 1é (n+2)

(©) nin+1 6(2n+ 3) '(D) None of these

N 9T I Seel ® Al 1 a9 o ®

A n(n+ 1)6(2n +1) ®) n(n+ 16)3(n + 2?

©) n(n+1)6(2n+3) (D) T 3w T
A-Set ATADTI/13-A—page-9 | c-31




10. The greatest number which will divide 410, 751 and 1030 so as to leave remainder 7
ineach caseis :

(A) 32 (B) 31

(C) 34 ) (D) 38

% sifueras G St R 410, 751 ik 1030 =i fauifsa Xt ¥ @ik woe <30 # Yo 7 1
- ¥ g rfushan TE

(A) 32 (B) 31

(C) 34 (D) 38

2 15 7 3
11. The smallest fraction which, when added to —x—, x-—x— gives a whole number

5 21 10 8
is:
36 37
N 3 ® 5
(C) 2—3 | (D) None of these
2 15 7 3
e g fir, g st W £%%1°10"8 ool TR A MR 1 TR R
36 37
A) 37 ® 5
39 \ .
© 2 ) T9H | w8 T

12. |f the number (10"— 1) is divisible by 11, then nis :

(A) Odd number (B) Even.number
(C) Any number (D) Muitiple of 11
afg gem (107 - 1), 11 AT g, A nwa= ¢

(A) foem e (B) w® He

(C) =% dem : D) 1M1= -

C—31 T ATADTI/13-A—page-10 A-Set




13. If, (H%) =(1-b{i3) then the value of xis :
A) 2 B) 3
(C) .4 ' (D) 1

27

(14 5) = (1 m)wxﬁwﬁ

(A 2 B) 3

C) 4 (D) 1

14. Thévalueof (1—%)(1?%) ------- (1—%) is:
- 3 4
(A) 5 B) o
2
(C) P (D) - ‘None of these

/
—
|
W —
~—

3 4
(A) P (B) P
(C) % (D) T & =K T
o x_3 6, y-x
15. Ify—4 thenthevalueof., Y+ X is:
(A) 3 ' |) 1
(C) 2 , (D) 8
Xx_38 6 y-x
_;_4’@ 7+y+x 1A ¥
(A) 3 : . (B) 1
(C) 2 ' (D) 8 . |
A-Set . . ATADTI/13-A—page-11 = C-31
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16. The surface area of a cube is 30— sqg. m., then the volume of cube is-:

8
24 4 ' 25 4
112 1122
(A) Hioym B g m
5 v
(C) 126_2 m° ' (D) None of these

gt o1 1 gg TR 30% ol Hiex ®, ae T 1 T ©

24 3 ’ 25 3
(A) 11—75 m (B) 11& m

25 3 .
© 125 m O) T AR

17. Each edge of a cube is increased by 50%, then the per cent increase in its volume is

(A) 100% (B) 99%

(C) 220% (D) None of these

¥ 1 Yo R A 50% H1 g F1 SR €, 79 ST AEad | ghs et
(A) 100% (B) 99%

(C) 220% (D) =7 A HE T

18. Each of the radius and the height of a right circular cyclinder is both increased by

10%, then the per cent which the volume increases : -

(A) 32:3% (B) 37-7%

(C) 331% (D) None of these

Ifs fordt one i e i e siR S9E § 10% #1 gig F < 93, 79 e 9 gig
(A) 32:3% . (B) 377%

(C) 331% (D) =T |/ = T

c-31 T ATADTI/13-A—page-12 A-Set




19. The expansion 5°* — 2°* has a factor :

(A) 3 B) 7
(C) 10 (D) 17
el war & 57 — 2% w o ¥
- (A) 3 (B) 7
(C) 10 | (D) 17

20. The last digit in the expansion of (41)" — 1 when n is any positive integeris :

(A) 2 (B) 1

€ o (D) -1 |
& 73 gar # (41)" - 1 W digit, SefF n B T integer ¥
(A) 2 B) 1

© o (D) -1

21. 461 +452 | 463 | 464 | 465 is divisible by :

(A) 3 B) 5
) 1 (D) 17
461, 462 | 463 | 464 , 465 fire1  feyenfiorm €m
(A) 3 . | (B) 5

(C) 11 D) 17

22, Find the value of x in the given equation 75:3=x:9:

(A) 224 | - (B) 223
(C) 222 (D) 225
AN 75:3=x:9 AxHaAME:
(A) 224 , (B) 223
(C) 222 (D) 225
i’:&et - T ATADTI/13-A—page-13 | o cf-‘@t
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23. The value of the following equation .

5 1 1
6+ ‘ T :
8+—
10
is: -
81 88
5— 6——
A 496 (B) 466
(C) 8 49916 (D) None of these
foreffion SHe 1AM ; ’
5+— 1 1
6+ T
8+—
10
B |
81 : . 88
5 . . 66—
(A) 496 - - . . (B) 466
' o1 e
©) 8,56 (D) v & =g

~24. A sum of money doubles itself in 4 years at a simple interest. In how many years will )
it amount to 8 times itself ?

(A) 27 years | (B) 23years

(C) 28years (D) 29years

TR =S A 4 78 H /e o9 H LA S S S RS O sw@ﬁﬁmw%
(A) 279d (B) 23

(C) 28 (D) 29ad

25. A sum of money at simple interest amounts to Rs. 600 in 4 years and Rs. 650 in
6 years. The rate of interest per annum :

(A) 7% (B) 6%
(C) 5% (D) 3%
TR =1 | FE 44 4 I8 F 600 % 3R 6 7t A 650 %. & S ¥ 1 79 s =S AR ¢
(A) 7% (B) 6%
(C) 5% (D) 3%

Cc-31 ~ ATADTI/13-A—page-14 - A-=Set,
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SPACE FOR ROUGH WORK
TR & & R w=w
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SPACE FOR ROUGH WORK
TF & & fod o
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26. A binary tree whose every node has either zero or two children is called :
(A) Complete binary tree
(B) Binary search tree
(C) Extended binary tree
(D) None of these
TF binary tree fs/a® we% s (Node) a% ¥ @1 Two children 8% ¥, 38 1 Fa T & 2
(A) TR F
(B) W wEd
(C) s ar &
(D) w7 & 2 e

27. The depth of a complete binary tree is given by :
(A) D,=nlog,n .. :
(B) D,=nlog, n+ 1
(C) D, =log,n
(D) D,=log, n+1
T complete binary tree %1 &S (depth) frae gra & st § 2
(A) D,=nlogyn. | |
(B) D,=nlog, n+1
(C) D, =log,n
(D) D,=log, n+1

28. When converting binary tree into extended binary tree, all the original nodes in bmary
tree are:

(A) internal nodes on extended tree
(B) external nodes on extended tree
(C) vanished on extended tree

(D) None of these

Binary tree # extended blnary tree ¥ wRafia 0 I, bmary tree ® |t W ArgE A

T ?

(A) extended tree W T=ift® Aigd (Nodes)

(B) extended tree W =& T (Nodes)

(C) extended tree W == B S

©) wdecs 00
A-—Set | ATADTI/13-A—page-19 ciaf




29. The post-order traversal of a binary tree is DEBFCA. Find out the pre-order traversal :
(A) ABFCDE
(B) ADBFEC
(C) ABDECF
(D) ABDCEF
DEBFCA t binary tree =1 92—ttt TrHwu , Hi-3i7ET wwa (Pre-order traversal) 9@

30. Which of the following sorting algorithm is of divide-and-conquer type ? -
(A) Bubble sort
(B) Insertion sort
(C) Quick sort
(D) All of these :
Hrran Frefafiea e Teifien (sorting algorithm) divide-and-conquer &t Y&R &1 ¥ ?
(A) Bubble sort
(B) Insertion sort
(C) Quick sort
(D) |t
TR S "oy
31. Inagraphif e=[u, v}, then uand vare called :
(A) endpoints of e
(B) adjacent nodes
(C) neighbours
v (D) -allof these :
T AR H AR e=[u, V], @ uaih vaﬁwmtﬂm% ?
(A) e endpoints
(B) TsSTE= 1€H (Adjacent nodes)
(C) wSrt (Neighbours)
(D) & weft

c-31 | ATADTI/13-A—page-20 A-Set




32. : A connected graph T without any cycle is called :
(A) Atree graph
(B) Afreetree
(C) Atree
(D) All of these
T connected graph T, fam fret = (cycle) & T FEAN© ?
(A) S urw
(B) Wi
C) @
(D) A usit

33. Inagraphif e=(u, v), then uand vare called :
(A) uis adjacent to vbut vis not adjacent to u
.(B) ebegins at uand ends at v
(C) uis predecessor and vis successor
(D) both (B) and (C) |
WAERAR e=(u, V), AusdiRvAr FrIsmr ¢
(A) u, v TSIE= (Adjacent) }, A v, u S TeSR= T &
(B) e, ud & BT} 3R vR |G B ¥
(C) upredecessor ¥ 3R v successor &

(D) i (B) 3R (C)

34. If every node uin G is adjacent to every other node vin G, A graph is said to be :
(A) Isolated
(B) Complete
(C) Finite
(D) Strongly connected

Ifg G # ® s (Node) u, G H R TR AIg v%@'&n@? (adjacent) % @ 39 Ww (Graph) F
FET MR

(A) smzERifes
(B) Hr=iie

(C) RS

D) whreh wifree
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35. Full form of DDL :
(A) Divide Definition Language
(B) Data Division Language
(C) Data Definition Language
(D) Allof these

DDL#F g &9 § :

(A) feamge gfwrer e (Divide Definition Language)
(B) srer fefasm wren (Data Division Language)

(C) <7 RS T (Data Definition Language)

(D) *wsft

36. .., is combinations of both object-oriented concepts and relational cdncepts.
(A) Object-oriented model
(B) Relational model
(C) Object-relational model
(D) All of these

S stedee siiftdds stawmonsH (Object-oriented concepts) 3R Reerel sraaronaf
(Relational concepts) 1 TISH § :

(A) Iissiae I=7@ Aisa (Object-oriented model)

(B) e wew (Relational model)

(C) sifsse-fewma Afsa (Object-relational model)

(D) . & u+t

37. Afileis a sequence of :

(A) Blocks

(B) Tracks

(C) Records

(D) None of these

& wiEa (File) frae s/gwa (Sequence) ® ?
(A) =Tt (Blocks)

(B) % (Tracks)

(C) f=ri<@ (Records)
(D) ¥ 3 =18 T
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38.

39.
. contained in a file 7

40.

Amongst the following which are the types of attributes ?

(A) Entity Attributes, Compdsite Attributes, Derived Attributes, Null Attributes
(B) Simple Attributes, Entity Attributes, Derived Attributes, Null Attributes

(C) Simple Attributes, Composite Attributes, Derived Attributes, Null Attributes

(D) Simple Attributes, Composite Attributes, Entity Attributes, Null Attribute

frafafea | w199 7o (Attributes) & YR ER & 2
(A) TR T[0T, §E 0T, SR T[0T, SR o7
(B) %@ TV, TS O, ST O, SR I
(C) et o1, {01, ST O, IR o0
(D) ww,ww,mmww

What command is used to count the total number of lines, words and characters

(A) countw

.(B) wcount
(C) wc

(D) None of these

@mﬁﬁﬁaa@ Waﬂtaﬁﬁmmﬁmw%mfmmmmmA

ST ?

(A) countw

(B) wcount

(C) wc

(D) T ¥+

What command is used with VI editor to delete a single character ?

(A) x

B) vy

(C) a

D) z

VI Hues (Editor) & 919 U& avf ) = #:33 & fou fra sy &1 wam fean S € 2
(A) x

B) vy
(C) a
(D) z
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41.

42,

43.

What Shell's wild-card is used to match any number of characters including none ?
(A) =

B) ?

(C) [lijk]

(D) None of these

- 3 (Shell) =1 aETe-FIE (Wild- card)ﬁaaauﬁﬁmﬁ ot T (ﬁaﬁa&a) (Includlng

none) firetA & & fere wanT foman sman & 2
(A) =

B) ?.

(C) [k

(D) =78 d =K T

What command is used with VI editor to save file and remain in the editing mode ?
(A) x

B) d

(C) w-

(D) 4

Vi guree (Editor) 3 e 331 1 74 Higel &) 99 3R Huad WS (Editing mode) & W
P fau s ¥ ?

(A) x

B) a

C) w

(D)

Which of the following is not a search engine ?
(A) Alavista '

(B) Google

(C) Hotbot

(D) Opera

- Prefafed & @ wiFE T @S 9 (Search engine) & § ?

(A) FAeEiaE
(B) T
(C) wfesiie
(D) simq
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44,

45.

46.

What is a URL ?

(A) A computer software program

(B) Type of UFO ‘
(C) The address of document or page on world wide web
(D) A search engine

& URL#1 ¥ ? o

(A) TH FE QRAT T

(B) UFO =1 y&R

(C) =o€ arss 99 WA A AT & 99

(D) U E §5H

After a table has been created, its structure can be modified using the SQL command :
(A) UPDATE TABLE [TableName]

(B) MODIFY TABLE [TableName]

(C) ALTER TABLE [TableName]

(D) CHANGE TABLE [TableName]

TH 290 I W1 & A, smﬁ |LE (Structure) w1 ¥y (Modified) #FR SQL RN
oo s gwaT ¥ ?

(A) UPDATE TABLE [TableName]
(B) MODIFY TABLE [TableName]
(C) ALTER TABLE [TableName]
(D) CHANGE TABLE [TableName]

Which of the following is true for a relational database ?

-(A) Data is represented by tables
- (B) ltis difficult to access data

(C) Complex programs have to be written for simple queries
(D) Allof these
frefafaa 3§ § o sreg & i SR aa € 2

(A) =121 %! e gRI ST I &

(B) T I W9 wEN YRFAE
(9] ma w¥ (Simple queries) & faw wifea s/ (Complex programs) =T faran

(D) itw”r
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47.

48.

49.

50.

The speed of internet access is defined in what terms ?
(A) Kbps

(B) MHz

(C)  Megabytes

(D) RAM
mﬁzmm’}nﬁaﬁﬁﬂaﬁﬁvﬁwmw% ?

(A) Kbps

(B) MHz

(C) Megabytes

(D) RAM

SQL standsfor ........... .

(A) "~ Structured Query Language (B) Sequential Query Language -
(C) Structured Question Language (D) Sequential Question Language :
SQL & HaeE ¥ : A

(A) wFE = A () e =g daw
(C) wFag FaveH A (D) femsifireret T draw
A table can have onlyone............... . ‘
(A) Secondary key » (B) Alternate key
(C) Unique key (D) Primary key
T doer 1§ ae T a LSE) % | .
(A) Fhvsd H (B) sToeie Fft
(C) wifgeda =it (D) wrEEd it

- Which of the following constitutes a basic set of operations for manipulating relational
data ?
(A) Predicate calculus (B) Relational calculus
(C) Relational algebra - (D) sSQL

=1 # @ e e = (Relational data) & Sis-tg (Manipulating) % TR & fag
T It §e 1 ST FA R 2 '

(A) TEihe demed A (B) fowre hemad .
(C), ﬁﬁwﬁvﬂw (D) W(SQL) |
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51. The solftware such as Internet Explorer and Mozilla firefox are referred to as oo .

52.

53.

54.

(A) System Software (B) Ut|l|ty Software

(C) Browsers : (D) Internet Tools

TR TR SiR Afen Rl SR diveday e % 9 H IM 5§
(A) fow=w dfeam (B) Ui WiweaT .

(C) = (D) TROE I

What is data integrity ?

(A) ltis the data contained in database that is non-redundant

(B) Itis the data contained in database that is accurate and consistent
©) tis the data contained in database that is secured

(D) It is the data contained in database that is shared

<1 el (Data Integrity) F % ? |

(A) =g # R e iR-fred® (Non-redundant) & :

(B) Trm™E # A w1 ¥ iR @R (Accurate and Consistent) ?

©) Ay F AN SR g (Secured) ¥ '

(D) <rerw # wiog <@ @ (Shared) T s &

DROPisa......... statement in SQL.

(A) Query | : (B) Embedded SQL

(C) DDL ~ (D) DCL
DROPW(SQL)T?IW ...... RO

(A) =& (Query) (B) TS TR (Embedded SQL)
(C) ¥iwm (DDL) (D) <hew (DCL)

What does protocol.define ?

(A) What data is communicated ? (B) How data is communicated ?
(C) When data is communicated ? (D) Al of these

~ 9RrTe (Protocol) Fr aRefia wta § 2

(A) o T wifta fEm € 2 (B) %@mqﬁﬁaﬁm%?

(C) FaemwifmfFmy ? (D) & wsit
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55.

56.

57.

What is the primary function of an operating system ?
(A) Protect from virus

(B) Processor management

(C) To keep system programmers employed

(D) None of these

wF sitRfen faweq = nafas s F e ?

(A) T A R HE

(B) e B
(C) urelt URITHR o ShTeRa T
(D) T ¥ =K T

Which of the following is true about concurrent processes ?

(A) Do not overlap in time

(B) Overlap in time

(C) Are executed by processor at the same time
(D) None of these

Preffen & S wwed wirmel $ aR § wer d 2
(A) wHg # ey e

(B) @Ha # ooty H §

(C) u= & u9a ® NawW R fFreurfea fve o €

(

D) T ¥ %K &

FIFO schedulingis............. eeienans

(A) Preemptive Scheduling

(B) Non-preemptive Scheduling

(C) Deadline Scheduling

(D) Fair Share Scheduling

e ez (FIFO Scheduling) ¥
(A) Tomfes e

(B) r-vurfes Segfem

(C) SwmT ST

(D) R AR Argfem
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58. What is full form of PCB ?

59.

60.

(A) Program Control Block

(B) Process Control Block

(C) Process Communication Block
(D) None of these

Helist (PCB) =1 quf &9 91 & 2

(A) W ®de sl

(B) WRE et scileh

(C) Ww wrgfrehvr sailh

(D) T ¥ HE T

In which generation of systems smgle stream batch processmg systems were used ?
(A) First generation |
(B) Second generation

(C) Third generation

(D) Fourth generation

mm%mmmqﬁmmmW% 2

(A) veeh dg

(B) T g

(C) et el

(D) <ieft i

Which file name extension represents the Backup f_iIe ?
(A) TXT N

(B) COM

(C) BAS

(D) BAK
ﬁaﬁmwm&m%&qwaﬁwﬁhm% ?

 (A) TXT

(B) COM
(C) BAS
(D) BAK
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61.

62.

63.

Which of the following is an essential file of a MS-Windows operating system ? . |

(A) COMMAND.COM
(B) START.COM
(C) TREE.COM

(D) VER.COM

- fratafea § § SR wEA MS- Wlndows%mmmw% ?

(A) COMMAND.COM
(B) START.COM
(C) TREE.COM

(D) VER.COM

In which table, an operating system keeps the ir_\formatién of files ?

(A) File Folder Table (FFT)

(B) File Index Table (FIT)

(C) File Allocation Table (FAT)

(D) Directory Index Table (DIT)
mmﬁmmmmﬁmm% ?
(A) wEa Hieet 29 (FFT)

(B) izt gow 9 (FIT)

(C) wEa TehsM 29 (FAT)

(D) eRERd oaw <=w (DIT)

Which of the following is not a process state ?
(A) New

(B) Running

(C) Ready

(D) Finished

freferfira 3 & wTE 9 st (Process State) T & 7

(A =
(B)
) w
(D) fwfws
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64. Unix Operating Systemisan................. .
(A) Time Sharing Operating System
(B) Multi-user Operating System
(C) Multi-tasking Operating System
(D) All of these
W(Unm)aﬁ%&nﬁm@“': ................. ¥ -
(A) wwg-urEn (Time Sharing) stfaifen faen
(B) wg-3SwdrTRal (Multi-user) atfqifen fawn
(C) wg-=™ (Multi-tasking) sifq¥fén fawn
(D) At wdt &

65. A program in execution is called :
(A) A Paging
(B) A Process
(C) A Virtual Memory
(D) A Demand Page
FraT (Execution) 814 SR &) Waﬁ g7
(A) ufsm
(B) waw
(C) wora Wt
(D) fewie A9

66. The file system “NTFS” stands for :
(A) New Type File System
(B) Never Terminated File System
(C) New Technology File System ' ; ’ .
(D) Non-Terminated File System
wrgd fren ‘NTFS" s sa s g 2
(A) = 9 wre faem
(B) "= =fififes war fawew
(C) = 2=reish wra fagew
(D) At-=fiifee wre faew
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67.

68.

69.

Which of the following is not an external command ?

(A) Format

(B) Label

(C) Move

(D) Prompt

frafafes 3 ¥ St wag (External Command) 78 ¥ 2
(A) e o

(B) W

(C)

(D) w2

Where is information about a process maintained ?
(A) Stack

(B) Translation Lookaside Buffer

(C) Process Control Block

(D) Program Control Block

wfsman (Process) & IR # SR el Tt St § 2

(A) V=

(B) TN GHIAGE T

(C) IH9 e =aifh

(D) Y ®I =il

Which of the following is not an advantage of multiprogramming ?

(A) Increased throughput

(B) Shorter response time

(C) Decreased operating system overhead

(D) Ability to assign priorities to jobs

frrafefem § @ Sia SgwaRsia (multlprogrammlng) FT AN AR ?

(A) warg & (Increased throughput) # 3fg

(B) =® q %1 gfafwan (Shorter response) w94

(C) sArafen fawen sfatge # #+t (Decreased operating system overhead)
(D) <Sfla= fenz WafRaTd TS (Assugn prlontles to jObS) FA HT FEA
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70. A java constructor:
(A) must have the same name as the class it is declared within
(B) is used to create objects
(C) Both (A)and (B)
(D) None of these
Eﬂ?mm (java COHStI’UCtOf) ............. rranenas
(A) FTH TE FIATFR TF & 79 A Dftg fmd s &
(B) sy s & forg swntt 39 €
(C) =i (A) 4 (B)
(D) = | #¥E &

71. The number of processes completed per unittime is known as ...................
(A) Output )
(B) Throughput
| (C) Efficiency
(D) Capacity
IR gehTE T | gl B Aol wfwmned S S #Y = wel I 2
(A) e ‘
(B) waT® aHa
(C) dram
(D) &wam

- 72. Which directory implementation is used in most Operating System ?
(A) Single Level Directory Structure |
(B) Two Level Directory Structure
(C) Tree Directory Structure
(D) Acyclic Directory Structure
SrRERt R (Directory Structure) i siftrerier: sifaXfen fawes § wam fera ST ¥ 2
(A) T ®R (Single Level) sae=d =
(B) =R (Two Level) sreRd W=
(C) 2 (Tree) SrRad Tearm
(D) sto=ia (Acyclic) SrRRERd A=A
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73.

74.

75.

What are the advantages of a tree structure files directory system ?
(A) allows easy storage and retrieval of file names

(B) is an unnecessary feature

(C) is not essential when we have millions of files

(D) None of these

& Tree Structure H1ZT SRRF JUNCH B F FRQ © ?

(A) STEM YeRol 3R WiEet TH St GG H STAN I §

(B) T EYTH: gfasm §

(C) iEal & T 9t & & fau smEva® ¥

(D) T & wrE T

What is byté code in the context of Java ?

(A) The type of code generated by a Java Compiler

(B) The type of code generated by a Java Virtual Machine

(C) ltis another name for a Java source file

(D) Itis the code written within the instance methods of a class
st (JAVA Language) & g # w52 @i (Byte Code) #1 & ?

(A) TH SIET HIHBER (Compiler) BRI 391 I 1 ThR

(B) TH S agerd ¥ (JVM) g1 3¢9 HIS T Jh

(C) U= w4l &id Wi & fo ue 3iR I

(D) TS I @ TR BAE (instance method) & i foren e

What is the shortcut key for manual line break ?
(A) CTRL + Enter

- (B) Alt+Enter

(C) Shift+ Enter’

(D) Home + Enter

H=gerer s formm @ forg witdéene st @ ¥ 2
(A) CTRL.+ Enter |
(B) Alt+ Enter

(C) Shift + Enter

(D) Home + Enter
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76.

Which feature helps you to insert the contents of the Clipboard as text without any
formatting ? A

(A) Paste Special
(B) Format Painter
(C) Page Set up

(D) Styles

aﬁmﬁgﬁmﬁmﬁé%maﬁmsﬁW(Formamng)%ﬁmm%wﬁ AN HA
AuEwEE 2 | ,

(A) Y= A
(B) Wiz ix
(C) =¥ 3™
(D) et

Concatenation of text can be done using :
(A) Apostrophe ()

(B) Exclamation (!)

(C) Hash (#)

(D) Ampersand (&)

e A (Concatenation of text) *«« B TR ﬁ?«!n =i m}% I

78.

(A) 38R @ fag ()
(B)  faeranfcanes (1)

(C) wW(#

(D) wrds(@&)

What is the value stored in “result” after executing the following line in a program ? .
‘result = 6/2+3;
A) 1.2 ‘

B 9

©) 1
(D) O , -
@mﬁﬁwﬁmvﬁﬁﬁmm%m“mww’ﬁmww%7
result = 6/2+3;

A) 1.2

B) 9

©) 1

D) 0
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79. What s the use of “All Caps” feature in MS-Word ?

80.

81.

(A) Itchanges all selected text into Capital Letter
(B) Itadds captions for selected image
(C) It shows all the image captions
(D) None of these
THEE-a2 (MS-Word) # @t Fw’’ (All Caps) gfatn =t sadm %7
(A) =& Tt Tt o1 5 eaer § wftafda @ @
(B) ¥e =t 8w & fo dwm Sga ®
(C) T& Wt gt huwid Teema &
(D) T | FK &

“CTRL + Backspace” is used to :

(A) Delete the single letter just before the cursor
(B) Delete the single letter just after the cursor
(C) Delete the word just before the cursor

(D) Delete the word just after the cursor

“CTRL + Backspace” frafera wa faver smn & 2
(A) FER Y vedt fod uw & sveR i frerr ¥

(B) &R & 9 faw s & 1R ) fiera ¥

(C) +W A e faw o v firern &

(D) =N = a< faw & v e ¥

Which Operating System does not support multi-user ?

(A) 0S/2 o

(B) Windows 95

(C) MS-DOS

(D) Windows NT

i sfRfen faeen wg- WW?(Multn user)mwﬁﬂﬂﬁm% ?
(A) OS/2

(B) Windows 95

(C) MS-DOS

(D) Windows NT
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82. Pick the odd man out:

83.

84.

(A) Access

(B) FoxPro

(C) PowerPoint

(D) dBASE

T8 31em F) YRt
) ww

(B) wew-Wm

(C) diat-wge

(D) dEw

Microsoft Access is a :

(A) RDBMS

() OODBMS

(€) OORDBMS

(D) Network Database Model
Microsoft Access F ¥ ?

(A) oTEITITE

(B) sisiErsiuTua

(©) IMAREATITE

(D) eas sERw Hew

Which of the following is not valid version of MS-Office ?

(A) Office XP
(B) Office Vista
(C) Office 2007
(D) None of these

: ﬁmf‘aﬁaaﬁ@aﬁ#mhﬁé-cﬁleeméﬂm?ﬁ% ?

(A) siffre wardt
(B) siffrs faw
(C) afrw 2007
(D) ;wﬁ e wﬁ
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85.

86.

87.

Which of the following is not a consequence of concurrent operations ?

(A) Lost update problem

(B) Update anomaly

(C) Unrepeatable read

(D) Dirty read

Frefaifaa § @ w\en et g=em (concurrent operatlons) 1 T IR0 TE ¥ ?
(A) die sTeee Yisem

(B) sr=2e sHtAed

(C) smRdeaa i

(D) =&

Where can you find the horizontal split bar on MS-Word 2003 Screen ?
(A) On the left of horizontal scroll bar

(B) On the right of horizontal scroll bar

(C) On the top of vertical scroll bar

(D) On the bottom of vertical scroll bar

MS-Word 2003 Screen ¥ 319 Horizontal Split Bar %&f & wsiit ?

(A) Horizontal scroll bar =t =Tt TWE

(B) Horizontal scroll bar = gt W®

(C) Vertical scroll bar & 38 &

(D) Vertical scroll bar & <=

In a multi-user database, if two users wish to update the same record at the same |
time, are prevented from doing so by which method ? ‘

(A) jamming

(B) password

(C) documentation

(D) record lock

T& Fg-STanTsRal (Multi-user) SREE H, 3R <1 I9ANTHAIsT *1 TH & 999 | T € el
3t (Update) &3 =mea €, @ forer fafl gro T &6 @ a1 s ® 2

(A) SifE

(B) ur@E

(C) <igHem

(D) f=iE wifw
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88. InMS-Excel, how you can automatically adjust the size of text in a cell if they do not fit

89.

in width ?

(A) Double clicking on the right border of column header

" (B) From Format choose Columns and then’Autqﬁt Selection

(C) From Format Cells dialog box mark Shrink to fit check box
(D) - Ali of these
MS-Excel # 219 f® y&R & fF.Cell # Text &% Size ! $& Adjust #= ¥ §, SR

- <reré A fipe T & 2
(A e ¥t 1 i @ R S e

(B) wike i & wrem w1 = X e Sitafee (Autofit) B Tome &
(C) wiiz fcw war s H Shrink to fit 3 sfeq I TAT AL
(D) 2 wnft wét &

Which function will be used to enter current date in a worksheet cell ?

(A) today() |

(B) mow()

(C) time()

(D) currentTime()

FTE BT g@iie (Worksheet) 3 & adaM &7 gt %0 & fag w&m 33 2
(A) today() '

(B) now()

(C) time()

(D) currentTime()
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90. Find out the output of the following code :

#include<stdio.h>

void main()

{
int num1=10,num2=20,nums3;
num3=num1>2+num2!=3;
printf("% d”,num3);

}

(A) 20

B) 1

(C) 10

(O) O

frefafion e & ST &1 a1 TR ¢

#include<stdio.h>

void main()

{
int num1=10,num2=20,num3;
num3=num1i>2+num2!=3;
printf(“% d”,num3);

}

(A) 20

B) 1

(C) 10

(D) 0

91. Which of the following special symbol allowed in a variable name ?
(A) * (asterisk)
(B) | (pipeline)
(C) - (hyphen)
(D) _ (underscore)
H9 3 13 1A fadiw vt =X (variable) T # wEwT 8 TR § ?
(A) * (asterisk) '
(B) | (vmEgemE)
(C) - (FFF)
(D) _ (underscore)
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92. By default a real number is treated as a :
(A) float
(B) double
(C) long double
(D) none of these A
fewiee w9 §f (By Default) T daet Sen £ 7 s $
(A) I
(B) ==&
(C) @ saa
(D) T A F1 T

93. Which of the followmg ranges is a valid for Iong double ?
(A) 3:4E-4932to 1-1E+4932
(B) 3-4E-4932t0 3-4E+4932
(C) 1-1E-4932t0 1-1E+4932
(D) 1-7E-4932to 1-7E+4932
fr=r St 3 Sl IS & @@ (long double) a‘?méﬂ% ?
(A) 3 4E-4932 to 1-1E+4932
(B) 3-4E-4932t0 3-4E+4932
(C) 1-1E-4932to 1-1E+4932
(D) 1-7E-49321t0 1-7E+4932

94. What is the output of ‘C’ statement (7-5% 3) ?
(A) 15
(B) 1
(C) No output
(D) 2
C’ W1 & (7-5% 3) &1 & =Y ?
(A) 1-5
B) 1
(C) T
(D) 2
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95. The two operators && and || are :
(A) arithmetic operators
(B) logical operators
(C) relational operators
(D) none of these
) st (Operators) && T4 || HFH § ?
(A) TR TR
(B) diferen 3t
(C) w=fem sifaet
(D) =T 9§ *¥ T

96. Which of the following correctly shows the hierarchy of arithmetic operatnons in'C ?

(A /+*— :

B) *-/+

(C) +-/*

(D) /*+-—

e d Q g 1 R C A ST W%W (huerarchy)a?rwm% ?
(A) /+*—

B) *—/+

() +-/*

D) /*+-

97. In which order do the following functions get evaluated ?
(1) Relational (2) Anthmehc (3) Logical (4) ASS|gnment
(A) 2134
(B) 1234
(C) 4321
(D) 3214
frafafes functions FH9 %1 (order) & Yedifwad 214 € ?

(1) Ty (2) STHIR (S)HT%T:F (4) s
(A) 2134
(B) 1234
(C) 4321
(D) 3214.
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98.

Which data structure allows delgting data, elements from front and inserting at rear ?
(A) Stacks :

(B) Queues

(C) Deques

(D) Binary search tree

T S AT S 9P (front) A St aval B g2l aﬁtﬁw (rear)ﬁ‘eﬂﬁﬁaﬁ"r aﬁ[ﬂﬁriﬂ% ?

~ (A) = (Stacks)

- 99,

(B) =g (Queues)
(C) <= (Deques)

(D) = w« & (Binary search tree)

Identify the data structure, which allows deletions at both ends of the list but insertion

- atonly oneend :

(A) Input-restricted deque

- (B) Output-restricted deque

(C) Priority queues
(D) None of these '
T WO 98 G, ﬁﬁﬁﬂﬁﬁﬁwﬁaﬁ%m%ﬁ%uﬁ&a%@ﬁmﬁﬁt

- =l wEE

100.

(A) T79e vivafm <y
(B) emsIye witafum iy
(C) fefE g

) T QB

Which of the following data structures is non-linear type ?

(A) Strings

(B) Lists

(C) Stacks

(D) None of these B TR
frrafafean e Sem %1 S - TR (non -linear type) % ?
() fem

(B) foree

©) #=

(D) = q =18 e
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SPACE FOR ROUGH WORK
TF & & fod W
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SPACE FOR ROUGH WORK
TF & & o s
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SPACE FOR ROUGH WORK
T & & fod @\

=7 R T e
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| INSTRUCTIONS REGARDING METHOD

OF ANSWERING QUESTIONS

(Please use Black ball-point Pen)
Method of Marking Answers :

To answer a question, please darken one circle
out of the given four, in the OMR Answer Sheet
against that question.

Valuation Procedure :

There are four probable answers to a question,
only one of them is correct. One mark will be
awarded for each correct answer. If more than
one circle are darkened for a question, it will

" be presumed that the candidate does not know

the correct answer, hence, no mark shall be
awarded.

Cancellation or Change in Answer :

It will not be possible to change the marked
4 circle with black ball-point pen; therefore,

correct answer should be carefully chosen

~ before marking it on OMR Answer Sheet.

Handing over of Answer Sheet to

Invigilator :

(1) Please ensure that all entries in the answer

sheet are filled up properly i.e. Name, Roll
No., Signatures, Question Booklet No. etc.

(i) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

. Care in Handling the Answer Sheet :

While using answer sheet adequate care should
be taken not to tear or spoil due to folds or
wrinkles.
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